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These questions are for use in the Virginia High School League’s Scholastic Bowl competition at the District level. Shawn Pickrell, Marian Suter, Adam Fine, Chris Moretti, Susan Gallaher, Ross Irwin, Jason Mueller and Fred Morlan are the authors of these questions.

Districts must observe the following conditions, which must be known by all coaches, competitors and spectators of the competition:

(a)
Release of these questions to any entity not affiliated with the District competition or the schools that are members of the given District, without prior approval of Shawn Pickrell, is prohibited. This is meant to keep question security.

(b)
The discussion or other reference to these questions with other entities in the Commonwealth of Virginia that are associated in any way with the Scholastic Bowl competition before all District champions have been determined is prohibited. This is also meant to keep question security.

(c)
These questions may not be released AT ANY TIME to entities outside the Commonwealth of Virginia, except with prior approval of Shawn Pickrell. Discussion of these questions, however, is permitted between entities within and without the Commonwealth of Virginia This will apply to ANY entity in the Commonwealth of Virginia that receives these questions, be it directly from Shawn Pickrell or indirectly through various means.
First period: 15 tossups
1.  The Dave Matthews Band influenced him enough to break away from his high-school punk rock group, Caine, and form the acoustic band Rubic's Groove.  After the band achieved local success in the Dallas area, he left the group to go solo, using studio time bought by his brother to record _Elm Street_.  Name this guitarist and singer of the song "On the Way Down," also the some-time boyfriend of Ashlee Simpson.

ANSWER:  Ryan _Cabrera_

2.  THIS IS A COMPUTATION QUESTION. f of x equals the absolute value of the difference x-squared minus four.  Over what intervals is the function increasing?

ANSWER: _-2 to 0 and 2 to positive infinity_ (accept -2 to 0 and greater than or equal to 2)

3.  During the 1960’s, the Soviet Union developed a manned spacecraft that was intended to carry cosmonauts to the Moon.  After the Apollo moon landings, this spacecraft was modified for the Soviet space station programs and is still in use today, ferrying crews to the International Space Station.  What is the name of this spacecraft?

ANSWER: _Soyuz_

4.  This infantry formation displaced the Greek hoplite [haw-PLIGHT] and reigned supreme until the rise of the Roman legion. What was this infantry formation devised by Philip of Macedon that consisted of several ranks of lightly-armored, tightly-bunched spearmen?

answer: _phalanx_

5.  This novella is told mostly through the journal of a governess and depicts her struggle to save her two young charges from the demonic influence of the apparitions of two former household servants. What is this work by Henry James?

ANSWER: _The _ Turn of the Screw_ _

6.  Jodie Foster has no known comment on the issue of whether this man should be allowed to have unsupervised visits to see his parents in Williamsburg. Who is this man -- who attempted to impress Foster by assassinating President Reagan in 1981?

answer: John _Hinckley_

7.  To which of New York's five mafia families did Albert Anastasia, Paul Castellano, Sammy "the Bull" Gravano and John Gotti all belong?

answer: _Gambino_ family

8.  They were said to be great Lords of Numenor [NOO-men-or]. Their leader was known as the Witch-King, and was eventually slain at the battle of the Pelennor Fields. Who were these nine followers of Sauron in The Lord of the Rings? 

answer: _Nagzul_ or _Ringwraiths_ or _Black Rider_s

9.  What general name is given to the class of drugs that kill or slow the growth of bacteria?

ANSWER: _antibiotics_

10.  In Windows XP, it starts with "A problem has been detected and Windows has been shut down to prevent damage to your computer." In Windows 98 and ME [M-E], you can "Press any key to terminate the current application." What is this error message seen by Windows users, named for the color of the screen?

answer: _blue screen of death_ or _BSOD_

11.  At what electrode does oxidation occur, the same electrode that is the negative discharge plate in an electrochemical cell?

ANSWER: _anode_

12.  This Mississippi-born bluesman's real first name is Riley; he took his stage name when he performed in Memphis as a disc jockey and singer.  Singles of his include "Three O'Clock Blues" and "You Don't Know Me".  Who is this "Blues Boy" who also sang "The Thrill is Gone," owner of a guitar named Lucille.

ANSWER:  Riley "B.B." _King_

13.  She was the Queen of Mycenae, but not all was well in her land.  Her husband sacrificed her daughter Iphigenia (if-uh-jen-EYE-ah) in order to get a favorable sailing wind, so she retaliated by taking Aegisthus (ay-JIS-thus) as her lover, and plotted to kill her husband.  What sister to Helen of Troy murdered King Agamemnon, but was killed herself by her vengeful son Orestes?

ANSWER:  _Clytemnestra_

14.  Its origins are in western Wyoming, and it flows through Utah and Colorado, joining the Colorado at Canyonlands National Park. Towns in Wyoming and Utah share a name with -- what colorful river that is also the title of a Creedence Clearwater Revival song?

answer: _Green_ River

15.  In which Edgar Allan Poe short story will you find a thousand lords and ladies reveling within Prince Prospero's castle, imagining that they had found a refuge from Death?

ANSWER: "The _ Masque of the Red Death" _

Second period, 10 directed questions per team

Questions with an “A” after their number will be read to the team that selects set A of questions; questions with a “B” after their number will be read to the team that selects set B of questions.

1A.  In terms of evolution, whose theory stated that acquired characteristics could be passed on?

ANSWER: Jean-Baptiste _Lamarck_

1B.  At which fast-food establishment would you find menu items such as the Croissan'wich Bacon, Egg & Cheese and the Tendercrisp Caesar Salad?

answer: _Burger King_

2A.  Male members of -- what church are members of the Aaronic or Melchizedek [mel-KIH-zee-dek] Priesthoods? 

answer: _Mormon_ or Church of Jesus Christ of _Latter-Day Saints_

2B. THIS IS A COMPUTATION QUESTION. The percent by mass of oxygen in N2O is what?

ANSWER: _36_ percent

3A.  THIS IS A COMPUTATION QUESTION. What is the greatest common divisor of 888 and 444,444 (eight hundred eighty eight and four hundred forty four thousand four hundred forty four)?

ANSWER: _444_

3B.  A shortened form of this word can be used with the words fan, jet, prop, and charger. What is this device in which steam, water, gas, or air is made to spin a rotating shaft by pushing on angled blades?

ANSWER: _ Turbine _

4A.  Name the Russian author who has often been considered his country's greatest poet and the founder of modern Russian literature. His first completed major poem was _Ruslan and Ludmila_.

ANSWER: Aleksandr Sergeyevich _ Pushkin _

4B.  THIS IS A COMPUTATION QUESTION. What is the sum of the infinite geometric series whose first three terms are -16, -4, and -1?

ANSWER: _-21 and 1/3_ (accept equivalents such as -64/3)

5A.  During World War I, the Ottoman Empire killed roughly 500,000 members of what ethnic group?

answer: _Armenian_s

5B.  Darwin is the capital of -- what political component of Australia?

answer: _Northern Territory_

6A.  Betty and Isbel come dancing from their games in the poem "in just" written by what American poet?

ANSWER: e.e. _ cummings _

6B. Name the author who won the 1934 Nobel Prize for Literature for _Six Characters in Search of an Author_.

ANSWER: Luigi _Pirandello _

7A.   According to this law, any change in the pressure or temperature of a component in a state of equilibrium has little effect, being compensated for by an automatic adjustment in the other components of the equilibrium.. For what French chemist is this principle or law named?

ANSWER: Henri Louis _ Le Chatelier _ (shat-le-a)

7B.  What long-time Green Party activist was Ralph Nader's Vice-Presidential candidate in 2004?

answer: Peter _Camejo_ [kah-MAY-hoh]

8A.  Never performed during the composer's lifetime, what 1788 symphony in C major by Mozart was his forty-first and final such piece, and was named after the king of the Roman pantheon?

ANSWER:  _Jupiter_ Symphony

8B. THIS IS A COMPUTATION QUESTION. f of x equals k plus a times the squared quantity x minus h. {y = k + a(x-h)2) } What point represents the maximum value of the function, if a is a constant less than 0?

ANSWER: _(h, k)_ (accept equivalents such as “x=h and y=k”)

9A.  THIS IS A COMPUTATION QUESTION. What is the area of a trapezoid with bases 8 and 5, if its altitude is 6?

ANSWER: _39_

9B.  The solar system contains planets and moons with a wide range of diameters.  Which planet has the largest moon relative to the size of the planet?

ANSWER: _Pluto_

10A.  What name is given to the personal retirement accounts offered by many employers to their workers, named for the tax code section that allows them?

answer: _401(k)_ plans (accept 403(b), 401(a) and 457 plans)

10B.  What member of the Cherokee invented an alphabet for his language?

answer: _Sequoyah_ or George _Guess_ (accept George _Gist_)

Third period, 15 toss-ups
1.  He was captured under a flag of truce by Napoleon's forces and died in prison in 1803. In the previous decade, he had established the Western Hemisphere's second independent nation. Who was this father of Hatian independence?

answer: Toussaint _L'Overture_

2.  The best-preserved piece in this collection is a frieze showing a procession, with the patron goddess receiving a robe from her citizens.  Some of the surviving pediment figures depict the birth of the goddess Athena and her fight with Poseidon for Athens.  35,000 pounds was the price paid in 1816 for what collection of Athenian sculptures by a British earl?

ANSWER:  _Elgin Marbles_ 

3.  It begins with a series of letters and features a Swiss student of natural science who creates an artificial man from pieces of corpses and brings his creature to life. Name this work subtitled _The Modern Prometheus_.

ANSWER: _ Frankenstein _

4.  As a general, he was a disaster. In 1861, he declared martial law in Missouri and was sent to West Virginia, where he lost several battles and resigned. However, Lincoln owed him a debt -- five years earlier he had catapulted the Republican party into prominence. Who was this man, the first Republican Presidential candidate?

answer: John C. _Fremont_

5.  Organisms that have both male and female reproductive systems, such as earthworms, are known by what name?

ANSWER: _hermaphrodites_

6.  Before 1928, it used an Arabic alphabet that was ill suited for this Altaic language, but today uses an alphabet based on the Roman alphabet. What is this language spoken in cities such as Izmir, Van, Ankara and Istanbul? 

ANSWER: _Turkish_ 

7.  In the world of stocks, what three-letter word can follow large, mid, small and micro, describing the total value of all the shares in the company?

answer: _cap_ (short for _capitalization_)

8.  "The Creation," "The Prodigal Son," "Go Down Death: A Funeral Sermon," "Noah Built the Ark," "The Crucifixion," "Let My People Go," and "The Judgment Day" comprise _God's Trombones:  Seven Negro Sermons in Verse_ written by what African-American poet who also wrote _Autobiography of an Ex-Colored Man_?

ANSWER: James Weldon _ Johnson _ (prompt on "God's Trombones")  

9.  Symmetry is characteristic of most life forms; but what type of symmetry do all worms have, a type of symmetry found in most other animals, including humans?

ANSWER: _bilateral_

10.  The stock symbol UVN is -- the symbol for what largest Spanish broadcaster in the United States, rival to Telemundo?

answer: _Univision_

11.  Opposite of a spondee and also known as a dibrach [DIE-brak], it is the shortest metrical foot in classical verse, although it is uncommon in English verse. What is this term that can also mean a victory obtained at too-great a cost?

ANSWER: _ Pyrrhic _ 

12.  This Cabinet Secretary still handles the storage and use of the Great Seal of the United States, accepts Presidential resignations and handles protocol at White House functions. Most of the domestic duties this Secretary performed in the 18th century are no longer performed -- but the foreign duties still are. Thomas Jefferson was the first and Colin Powell is the current occupant of -- what Cabinet position?

answer: Secretary of _State_

13.  He played a mute homeless man in "Suspect," a scarred scientist-turned-superhero in "Darkman," Jedi Knight Qui-Gon (KWI-gon) Jinn in "The Phantom Menace," and the title roles in "Michael Collins" and "Schindler's List."  Who is this 52-year old Irish actor, star of the recently released film "Kinsey"?

ANSWER:  Liam _Neeson_

14.  THIS IS A COMPUTATION QUESTION. Acid X has a pH of 5, and acid Y has a pH of 1. How many more times acidic is acid Y than acid X?

ANSWER: _10 to the fourth_ or _10,000_ times more acidic

15.  THIS IS A COMPUTATION QUESTION. Three people who work full time are to work together on a project, but their combined time on the project is to be equivalent to only one person working full time.  If one person works half her time on the project, and another works 1/3 of the time on the project, what portion of the third worker's time must he devote to it?

ANSWER: _1/6_

Spare questions 
(Try to replace the question discarded with the spare question in a subject area – i.e. science for science, social studies for social studies, etc.) Be sure to mark off the questions as they are used.
1.  While a bar mitzvah is celebrated when a Jewish boy turns 13 -- what similar ceremony is observed when a Jewish girl turns 13?

answer: _bat mitzvah_ 

2.  THIS IS A COMPUTATION QUESTION. Expressed as the sum of a decimal and a decimal-root product, what is the perimeter of an isoceles right triangle with hypotenuse equal to one-fourth the square root of two?

ANSWER: _.5 + .25 * sqrt(2)_

3.  Correct the grammatical error in the following sentence:  My three sisters usually help each other with the housework.

ANSWER: My three sisters usually help  _ one  another_ with the housework. (accept: replacing three with two)

4.  Discovered in the mid-1660s but not published about until 1704, they are interference fringes produced when a convex lens is placed on a flat glass plate so that light is reflected from the two surfaces.  Name this concentric optical phenomenon named after Sir Isaac.

ANSWER: _Newton's rings_

5.  Not even the Aztecs know much about the people who built this Mexican city around 300 BC. Invading Toltecs sacked it around 650 AD. What is this city in Mexico that contains the Pyramid of the Sun and the Pyramid of the Moon?

answer: _Teotihuacan_ [tay-oh-tee-WAH-kahn] (NOT Tenochitlan, those are two different cities)

All questions ©2004 by the question writers. Unauthorized use, as described on the first page of this document, is prohibited.

